@ RunlLog 2201Xe_220131.xIsx1_RunLog

2261 Xe1‘ 0.75 | i i i i736X520+ 10.75MeV./u 18.25MHz(RRC+RILACZ2) TonA ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘
| Run Summary Sheet : CAMAC & LabView FHELTECL

| | | [ ] Att Det.Setup
| |Fname

start | stop |Header |[Ender / L{_Elapse aAVk 100[10[ 5[ 3] 2| Trig |Wob |AuF [Kap [IG1 |PL1 [PL2 [IG2 |Airl |Air2 [PL21C2,SSD

|
\
KB LogNote: E5exp(8)_

| | | [ I SSD= Kreain : 2201Kr.Ar.Xe THi#

|
SEEAT : Beamif BERS | PL2110ArD< <

22/01/18 ZnSARYRE .170,172

Cap 15:17:00 Cap01_L jfiZnSIN mpg 1] 1] 1] 0] O X X 25u | X X X 25| 13

cap02 ZnS L jfivs F ik ipg

Cap03_LifZnS Out mpg

Cap04 Zslide mpg ExpRmm=12571355LLMPL1£EL T) RIFREL 54

Cap05_ZnSHLVBEITTLYD mpg ZnSEfT !

Cap07 AufE & 78 mpg

Cap08 WobR10,20,30 mpg WobR(Ar95)=10,20,25,30->20,17,13,15.9

Cap09_Au2umWobR30 mpg

1
2
3
4
5
6 Cap06_TQEHOK mpg
7
8
9
0

1 Cap10_Gaf03 Au2umWobOFF mpg

GafffE=(1)  |Gaf: HD-V2 [185x85mm @ Ysld p.170

FEL -Att vs IC2@Air2 IC2@Xclmt

16:20:00 Aubum WobR=0 30sec /I &L 1.2/ 1] 0] 1 OFF |6um

Aubum WobR=0 2[5 B 60sec E—L2fET60sec 1.2/ 1, 0[ 0 OFF [6um

Au2umZ @ WobR=0 35sec OFF |2u

Au2umZ i WobR=30 60sec R30 |2u

1
2
3
4 Au0.75um WobR=0 30sec MAEYELY OFF |0.75u
5
6

Au0.75um WobR=25 40sec FLNELY ! R25 |112u DAC1=0.3585 2=0.450!

OERRE | [pA71

17:10:00] [PL1=500u ® 35%7 & PL2=25u(Xe ) A1 Bl PL1.PL2FEFFIhit#EL)/OK

PL HV(1:FIATRID PL1, PL2 @ Air2 RIBFIZHIE

PLHVO1- 17:59:28| 18:00:04|plhv01-01 PL1,PL2=700,800V 0:00:36 | PL2=2kcps 212,10 PorS(0) [R30 |2u PL1(500u® 35)

18:00:39| 18:01:30|plhv01-02 PL1,2=800,900V 0:00:51|[PL1=900V PL2=1100VCRE PL2(25u:Xe )

18:02:00| 18:02:47|plhv01-03 900,1000V 0:00:47 | Thr PL1=-308,-1508 PL2=-155mV

18:03:24 | 18:04:18|plhv01-04 1000,1100V 0:00:54

IENNIN

18:09:36| 18:10:41|plhv01-05 HVfix PL1,2=900,1100V 0:01:05 |<- HVfix PL1:PL2=1:3.2

scnAtt: PL1P35 vs PL2 PL1=1000V(230uA) IC2 @ Air2(X=0 Center)

| |scnAtt01_202201181825 100cps —> Step 10f& -> 25MET  [p.173

[ 18:25:00] 18:35:00 I 30sec :XE 0:10:00 | scnAtt A 25 3[ 2] 1 ~ R30 [2u [eXlile) PL2@Air2

olo
olo

| [cam_runEshi= 1101

scnZic: ExpRmm H—F

| |scnZic01.202201181859 | S5mmStep x 30sec p.173 PL1=ON.PL2=OFF. IC2K=onZsld R30 |2u O [X |OIC2KZsld

[ 18:59:00] 19:10:00]" 100mm TRange 0:11:00|PL1=300K. I1C2=1.7-7A 1.2/ 1] 0/ 0

scnZic02_202201181917.dat. 2mmStep x 30sec Rt

| 19:17:00] 19:40:00]0 90mm AZ 0:23:00

scnZssd: Espc(1) PL1®35F4Y p.175

senZssd01- FE:Z=50mm TRng? AR

PL1=1k, Sor=450cps 2| 2] 1] 0] 3 R30 |2u O |X |OSSD Zsld

20:35:51|scanZ001 0.0 mm

20:37:53|scanZ002 5.0 mm

20:39:54|scanZ003 10.0 mm

20:41:57|scanZ004 15.0 mm

20:43:57|scanZ005 20.0 mm

20:46:07|scanZ006 25.0 mm

20:48:07|scanZ007 30.0 mm

20:50:07|scanZ008 35.0 mm

©|o|~|o|ag|s|e|no|—

20:52:07|scanZ009 40.0 mm

20:54:07|scanZ010 45.0 mm

20:56:07 |scanZ011 50.0 mm

20:58:09|scanZ012 55.0 mm

20:58:18|scanZ013 60.0 mm

E—LIAERT p.181

22/01/18] ] [BmShtRL) | Xom% A CEEIFH

22/01/19 1:35 (MLO4-2)FIFH RS —F p.182

22/01/19 13:25 (MLO4-2)FIFI#E T IEFFORZA L =0min

| 14:10:00] [MAEAMFTET \ aXi

REith: MLOAFIRRTHE

22/01/19 14:30:00| ESEA® S

PL HV (2: FIF#) p.188

PLHV02- 14:39:27| 14:40:22|plhv02-01 PL1,PL2=700,800 e 20 2/1/0/0 R30 |2u o |0 PL2(25u:Xe F)|

14:40:56 | 14:41:50|plhv02-02 800,900V

1

2 e

3| 14:42:18| 14:43:40|plhv02-03 900,1000V e PH=1/2
4] 14:44:30| 14:45:37|plhv02-04 1000,1100V e

sonZic: ESAIE

| |scnZic03 202201191532 Hsetup ++ PL1E S Box [p.188 PL1=ON. IC2K=onZsld R30 |2u O [X |OIC2KZsld
[ 15:32:00] 15:50:00[5mmStep x 30sec | 0:18:00 | PL1=300K, IC2=1.4-7A 1.2/ 1 0/ 0

| [senZic04 202201191604 IHsetup ++ Kap25um ——>4 * Kapi& b Tl= R30 |2u

[ 16:04:00| 16:22:00 0:18:00

| |scnZic05 202201191631 Hsetup ++ Kap25um R30 |2u
[ 16:31:00] 16:43:00 0:12:00

| [scnZic06 202201191659 Wob=OFF, Au 6um ILZZE[TLT. OFF |6u
[ 16:59:00] 17:14:00 0:15:00[PL1=250K, IC2=1.5-7A 12 1folo

| |scnZic07 202201191716 #06 ++ Au2um

[ 17:16:00] 17:28:00 0:12:00 112,10 0 OFF |6+2u

| |scnZic08 202201191734 [ E#07T, & D= WobR=30 T
17:16:00| 17:28:00 0:12:00 1.2/ 11 0/ 0 R30 |6+2u

GaffE=(2)  |Gaf: EBT3 [185x85mm @ Ysld p.189

FEL Att vs IC2@Air2 1G2@Xclmt.

| |Gaf 11] 18:20:00 Au 2um WobR=25 30sec PL1=350k 11 2,0 0/ 0 R25 |2um

12 Au 2um WobR=20 30sec R20 |2um

13 Au 0.75um WobR=20 30sec R20 |0.75u

14 Au 0.75um WobR=15 30sec R15 |0.75u

15 Au 2um WobR=30 Z=50{: & 50sec EIlE RN TRYD R30 |2um

16 Au 2um WobR=30 Z=65{ii & 90sec GafRIGBX )Xot R30 |2um

scnZssd: Espc(2) PL1SEL KapEEHD

senZssd02— PL1%EL Z=0:Kap+13mm HM5 p.190 Sor=400cps 2/ 2| 1] 0] 2 R30 |2u O | X |OSSD zZsld Trig=Sor

19:20:07| 19:25:04|scanZ001 0.0 mm 0:04:57 | 10mm Step x 300sec

19:25:07| 19:30:06|scanZ002 10.0 mm

19:30:09| 19:35:06 |scanZ003 20.0 mm
:35: 19:40:08 | scanZ004 30.0 mm

19:45:08 |scanZ005 40.0 mm

19:50:08 | scanZ006 50.0 mm

19:55:10|scanZ007 60.0 mm

20:00:13|scanZ008 70.0 mm

20:05:16|scanZ009 80.0 mm

olw|m|~|o|w|s|w|n|—

20:10:16{scanZ010 90.0 mm

22/01/19 MT#T

IEBERNTE: #7F. /Ml

22/01/18 13:30:00] [E(Xe) = 10.855 MeV/u 0164
[ [BLE, | |

1/1R=



